
MPG No. 6.3.19 2′2′2 (2’2’2 setting) [ Type III, orthorhombic ] [G tensor]

* Rank 0 tensor.[
G
]

G = G(1)
s

* Rank 1 tensor. * Rank 2 tensor (s).Gxx 0 0
0 Gyy 0
0 0 Gzz



Gxx = −G
(1)
du +G

(1)
dv +G(1)

s

Gyy = −G
(1)
du −G

(1)
dv +G(1)

s

Gzz = 2G
(1)
du +G(1)

s

* Rank 2 tensor (a). * Rank 3 tensor (s).
0 0 0
0 0 0
0 0 0

Gyzx 0 0
0 Gzxy 0
0 0 Gxyz



Gyzx = G
(1)
f3 − 3Q

(1)
du −Q

(1)
dv

Gzxy = G
(1)
f3 + 3Q

(1)
du −Q

(1)
dv

Gxyz = G
(1)
f3 + 2Q

(1)
dv

* Rank 3 tensor (a).Gyzx 0 0
0 Gzxy 0
0 0 Gxyz



Gyzx = −Q
(2)
du +Q

(2)
dv +Q(1)

s

Gzxy = −Q
(2)
du −Q

(2)
dv +Q(1)

s

Gxyz = 2Q
(2)
du +Q(1)

s

* Rank 4 tensor (sss).
Gxxxx Gxxyy Gxxzz 0 0 0
Gxxyy Gyyyy Gyyzz 0 0 0
Gxxzz Gyyzz Gzzzz 0 0 0

0 0 0 Gyzyz 0 0
0 0 0 0 Gzxzx 0
0 0 0 0 0 Gxyxy


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Gxxxx = −2G
(1)
du − 4G

(2)
du + 2G

(1)
dv + 4G

(2)
dv −G(1)

gu +G(1)
gv + 2G(1)

g +G(1)
s + 2G(2)

s

Gxxyy = −2G
(1)
du + 2G(1)

gu −G(1)
g +G(1)

s

Gxxzz = G
(1)
du +G

(1)
dv −G(1)

gu −G(1)
gv −G(1)

g +G(1)
s

Gyyyy = −2G
(1)
du − 4G

(2)
du − 2G

(1)
dv − 4G

(2)
dv −G(1)

gu −G(1)
gv + 2G(1)

g +G(1)
s + 2G(2)

s

Gyyzz = G
(1)
du −G

(1)
dv −G(1)

gu +G(1)
gv −G(1)

g +G(1)
s

Gzzzz = 4G
(1)
du + 8G

(2)
du + 2G(1)

gu + 2G(1)
g +G(1)

s + 2G(2)
s

Gyzyz = G
(2)
du −G

(2)
dv −G(1)

gu +G(1)
gv −G(1)

g +G(2)
s

Gzxzx = G
(2)
du +G

(2)
dv −G(1)

gu −G(1)
gv −G(1)

g +G(2)
s

Gxyxy = −2G
(2)
du + 2G(1)

gu −G(1)
g +G(2)

s

* Rank 4 tensor (ssa).
0 Gxxyy Gxxzz 0 0 0

−Gxxyy 0 Gyyzz 0 0 0
−Gxxzz −Gyyzz 0 0 0 0

0 0 0 0 0 0
0 0 0 0 0 0
0 0 0 0 0 0



Gxxyy = −2G
(3)
dv + 4Q

(1)
f3

Gxxzz = 3G
(3)
du −G

(3)
dv − 4Q

(1)
f3

Gyyzz = 3G
(3)
du +G

(3)
dv + 4Q

(1)
f3

* Rank 4 tensor (aas).Gyzyz 0 0
0 Gzxzx 0
0 0 Gxyxy



Gyzyz = −2G
(4)
du + 2G

(4)
dv +G(3)

s

Gzxzx = −2G
(4)
du − 2G

(4)
dv +G(3)

s

Gxyxy = 4G
(4)
du +G(3)

s

* Rank 4 tensor (aaa). * Rank 4 tensor (sa).
0 0 0
0 0 0
0 0 0

Gyzyz 0 0
0 Gzxzx 0
0 0 Gxyxy



Gyzyz = −3G
(5)
du −G

(5)
dv +Q

(2)
f3

Gzxzx = 3G
(5)
du −G

(5)
dv +Q

(2)
f3

Gxyxy = 2G
(5)
dv +Q

(2)
f3

* Rank 4 tensor (as).0 0 0 Gyzyz 0 0
0 0 0 0 Gzxzx 0
0 0 0 0 0 Gxyxy


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Gyzyz = −3G
(6)
du −G

(6)
dv +Q

(3)
f3

Gzxzx = 3G
(6)
du −G

(6)
dv +Q

(3)
f3

Gxyxy = 2G
(6)
dv +Q

(3)
f3

* Rank 4 tensor (s).
Gxxxx Gxxyy Gxxzz 0 0 0 0 0 0
Gyyxx Gyyyy Gyyzz 0 0 0 0 0 0
Gzzxx Gzzyy Gzzzz 0 0 0 0 0 0

0 0 0 Gyzyz 0 0 Gyzzy 0 0
0 0 0 0 Gzxzx 0 0 Gzxxz 0
0 0 0 0 0 Gxyxy 0 0 Gxyyx



Gxxxx = −2G
(1)
du − 4G

(2)
du + 2G

(1)
dv + 4G

(2)
dv −G(1)

gu +G(1)
gv + 2G(1)

g +G(1)
s + 2G(2)

s

Gxxyy = −2G
(1)
du − 2G

(3)
dv + 2G(1)

gu −G(1)
g +G(1)

s + 4Q
(1)
f3

Gxxzz = G
(1)
du + 3G

(3)
du +G

(1)
dv −G

(3)
dv −G(1)

gu −G(1)
gv −G(1)

g +G(1)
s − 4Q

(1)
f3

Gyyxx = −2G
(1)
du + 2G

(3)
dv + 2G(1)

gu −G(1)
g +G(1)

s − 4Q
(1)
f3

Gyyyy = −2G
(1)
du − 4G

(2)
du − 2G

(1)
dv − 4G

(2)
dv −G(1)

gu −G(1)
gv + 2G(1)

g +G(1)
s + 2G(2)

s

Gyyzz = G
(1)
du + 3G

(3)
du −G

(1)
dv +G

(3)
dv −G(1)

gu +G(1)
gv −G(1)

g +G(1)
s + 4Q

(1)
f3

Gzzxx = G
(1)
du − 3G

(3)
du +G

(1)
dv +G

(3)
dv −G(1)

gu −G(1)
gv −G(1)

g +G(1)
s + 4Q

(1)
f3

Gzzyy = G
(1)
du − 3G

(3)
du −G

(1)
dv −G

(3)
dv −G(1)

gu +G(1)
gv −G(1)

g +G(1)
s − 4Q

(1)
f3

Gzzzz = 4G
(1)
du + 8G

(2)
du + 2G(1)

gu + 2G(1)
g +G(1)

s + 2G(2)
s

Gyzyz = G
(2)
du − 3G

(5)
du −G

(2)
dv −G

(5)
dv −G(1)

gu +G(1)
gv −G(1)

g +G(2)
s +Q

(2)
f3

Gyzzy = G
(2)
du + 3G

(5)
du −G

(2)
dv +G

(5)
dv −G(1)

gu +G(1)
gv −G(1)

g +G(2)
s −Q

(2)
f3

Gzxzx = G
(2)
du + 3G

(5)
du +G

(2)
dv −G

(5)
dv −G(1)

gu −G(1)
gv −G(1)

g +G(2)
s +Q

(2)
f3

Gzxxz = G
(2)
du − 3G

(5)
du +G

(2)
dv +G

(5)
dv −G(1)

gu −G(1)
gv −G(1)

g +G(2)
s −Q

(2)
f3

Gxyxy = −2G
(2)
du + 2G

(5)
dv + 2G(1)

gu −G(1)
g +G(2)

s +Q
(2)
f3

Gxyyx = −2G
(2)
du − 2G

(5)
dv + 2G(1)

gu −G(1)
g +G(2)

s −Q
(2)
f3

* Rank 4 tensor (a).0 0 0 Gyzyz 0 0 Gyzzy 0 0
0 0 0 0 Gzxzx 0 0 Gzxxz 0
0 0 0 0 0 Gxyxy 0 0 Gxyyx



Gyzyz = −2G
(4)
du − 3G

(6)
du + 2G

(4)
dv −G

(6)
dv +G(3)

s +Q
(3)
f3

Gyzzy = 2G
(4)
du − 3G

(6)
du − 2G

(4)
dv −G

(6)
dv −G(3)

s +Q
(3)
f3

Gzxzx = −2G
(4)
du + 3G

(6)
du − 2G

(4)
dv −G

(6)
dv +G(3)

s +Q
(3)
f3

Gzxxz = 2G
(4)
du + 3G

(6)
du + 2G

(4)
dv −G

(6)
dv −G(3)

s +Q
(3)
f3

Gxyxy = 4G
(4)
du + 2G

(6)
dv +G(3)

s +Q
(3)
f3

Gxyyx = −4G
(4)
du + 2G

(6)
dv −G(3)

s +Q
(3)
f3
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* Rank 4 tensor (t).

Gxxxx 0 0
0 Gyyyy 0
0 0 Gzzzz

0 0 Gyyzz

Gzzxx 0 0
0 Gxxyy 0
0 Gyzzy 0
0 0 Gzxxz

Gxxyy +Gyyzz −Gyzzy −Gzxxz +Gzzxx 0 0
0 0 0



Gxxxx = −2G
(1)
du − 4G

(2)
du + 2G

(1)
dv + 4G

(2)
dv −G(1)

gu +G(1)
gv + 2G(1)

g + 3G(1)
s

Gyyyy = −2G
(1)
du − 4G

(2)
du − 2G

(1)
dv − 4G

(2)
dv −G(1)

gu −G(1)
gv + 2G(1)

g + 3G(1)
s

Gzzzz = 4G
(1)
du + 8G

(2)
du + 2G(1)

gu + 2G(1)
g + 3G(1)

s

Gyyzz = G
(1)
du + 3G

(3)
du −G

(1)
dv +G

(3)
dv −G(1)

gu +G(1)
gv −G(1)

g +G(1)
s

Gzzxx = G
(1)
du − 3G

(3)
du +G

(1)
dv +G

(3)
dv −G(1)

gu −G(1)
gv −G(1)

g +G(1)
s

Gxxyy = −2G
(1)
du − 2G

(3)
dv + 2G(1)

gu −G(1)
g +G(1)

s

Gyzzy = G
(2)
du + 3G

(5)
du −G

(2)
dv +G

(5)
dv −G(1)

gu +G(1)
gv −G(1)

g +G(1)
s

Gzxxz = G
(2)
du − 3G

(5)
du +G

(2)
dv +G

(5)
dv −G(1)

gu −G(1)
gv −G(1)

g +G(1)
s
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